M251 Practice Exam|3 sections 7.4, 8.1-8.3
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1. Find the indefinite integral. w=x-5
[8(x—5) ax =

2. Find the indefinite integral.

Ww=r-1\
[(r—l) duw=dv y S 52
2 = L O = — + Sy +C
| S;:d”“‘ 52‘“ 2 ST T Iy
3. Find the indefinite integral. o
( . u= -5
"[r_(r—S):l § (r-5) d"‘;d\:
r 8 _r_o2u_,_¥rhe ¢
Z“Zguc““'a = T 2T

>

'. dz
z+7 dl/L:d'%
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2:15 pm, 9/17/06 7\+ .
5. Find the indefinite integral. ’%—)—7) 4=zt L‘i?’@n ) s

Find the indefinite integral. -
z’ w=z+7 f(“‘ﬂd gu ’L"‘“q?(_lu.

w= Y3 @&k’: (- l_?_ c\LL
du = dy u U

u->=Y L ow- /Q,@[u[+c
- Ly - 18 Iyl
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6. Find the indefinite in 1 '
aar) o wsE (ot du
[— et 24

du:‘u CJK) ..,@VLIS‘Y\“{ '_'—l ﬂnf' >)+C_
d“ T4

-2 i (LZ-’
7. Find the definite integral.

o4 4 u= X -*é‘f
o VX +64 du,“ zxdx ‘3;';586]

S”w:\ (Z N [@?ﬁ*ﬂﬂ}

Tz 3

X=0 2 =20

8. Find the definite imtegral.  __——— used 4(17-8)=36

ixse—xtldx (_,L'—"X \
0 du' ’L/XC()[‘ xz2- ’

9. Find the mdeﬁmte integral. W _wy ) —
- — = — w

e dx | S ;e dw = é.w[wa fe dw]

w= b)(

dw= 12xdX - - s 2~ ¥
dW _ xd-x —‘;9:)(2’ duzdw v=e“ =.712-_W(6><-'€+<-

10. Findthe indefinite integral. P
% N &+l ( xe dx

we8x dv=edx T Gax dY=€7dx
du= jxdx V= e did=dx V=-

~X -X
- 8x*e” +Ie[xe—-( Ql)ﬂ
11. Find the indefinite integral.

[ xdx . —8xe ._,exe e e
dwz dv)( v_; é

——

* ! {;—“'M@—Q"ax 5 h sy -
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12. Find the mdeﬁnite integral. _,3%92'_‘ —6 Iy dy R _3@,,[ X):; Iy [-dx
w= é@\«x) dv=3x Jx NED 48t dv= C’X = -3&”’):6,&’0'_ é{,
du&: l&'\.“)&x \/:-3X da;cl_)'_- =- & X X X <
X x

13. Find the indefinite integral. N _ z

fuln(u+6)du u.—;/@g\x C‘-\/-"—'(X—Q)CIX @f-é@%x— (X?'—é,)()d)(
X=u+6 da= %X vz X* 2

dy =du X 2 E e (om% d

§ 66> Lrie dx ’(’%’"{;b I+ b — _;_Sz

14. Find the indefinite integral.

[lz%dq -3 E“*Q é@*é)] Infurey v 61U~ (L: S,
uJZ»‘g “’?{J% 3G p(wke) + bun @ c
Cb _ -2 2 —_
J.V(/‘?_g/— V= -f -zarla-’" d! j _%3- | _

1 - — ——— C:._, +
T )i T T Eg G+ 2bng: D

15. Find the indefinite integral.

[vJZv—Q dv
V= M*q 3 L
w=2v-9 PP AT gu’—ﬁuz'olm
d w=2dV 5 2 7 5 %
d%; d\/ '71’[3—‘ + ﬁ_—L] = _l/_L_z [.‘:l— +3]+L-.(Qi~®‘ 2v-<79
16. Find the indefinite integral. %2 z 2 L5 L2 (&

t
dt -4 5 =
N wol g 3du - L (u*-udu [ReviseD 5
w= [+3t 3 3 g 2:15 pm, 9/17/06

= 24t % I

%‘f( L - %— (guj’__ _uj> _ _Z:&(u—3>+c

A 5 =
17. Finﬁthe indefinite integral. /\Ii 2 7 -z J12t <3t‘Z>*C
- e sinSndn 3 — ) 271

‘%)(}’ .‘ T g I nc o3En d?—t?
U= >N dv=¢€ . N w=cosSn dv:=E€ dn
i

Ju=5cos5ndn vz S du= =5sinSn V= 6’7"

. — T
{\, vcos_sme v\ 5 e 5”15,,&-1

—

T
e ~ 7
- CSDV‘SYLW 5(6 Cossndh ;) B e T
7 Ty / smCS»\B >cos5‘ g "
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18. Find the indefinite integral. € Sinbudi ST et T
’?9‘)' "e “ cos6u du W= a d vz Simbudu -QX) - ?___(_‘f__"’__"‘_______
w= e d\,sc_oséuclu\ dw> -7€qc, V= —-coséu Cf' 13 056)
. a :
duw = 96'3% v= 5""“’“ '___f_% 1{@ tasé@ = & (et
a \zé 3 ya
19. Find the deﬁmte mtegral —
x/5
[ xcossxdr XS rdx . XSih >x coS e
Ww = X d\/ = CO% D 5 e X
. 5
du<dx V= 3mb5x
b N\“
5‘5!552/6/07 Tr:f'; ' H;i T (Ao s ‘—‘L " =-2
N , 5 25'
20. Find the definite integral. . sl kS i Zb'
; 1 Y -
[xunxdx ] ,an_ (x dx - X %X“(Xacl%
e D dv=XxTdx
d.u,—- EL_Z.‘ V= Xd
x 2 I)__ "
?‘ lo
21. Find the indefinite integral. 8{ «LPL _20 g),320
“cosxsin“xdx byl A
' = UHJ = _u’\s- . 5 . ‘f 9‘
U=2mx “ STC = S
J wu = oa‘;xcl)( 5

[smxcos xdx - -

22. Find the indefinite integral. +
. 3 %(J —_ u
U due

L= cos X
C)u. = - b}r\.xdx

23. Fmd the indefinite integral.
sm 4xcos* 4xdx

(/'éos 4x>¢0$ 4x <o Yxdx
4 "/f([ —u chu.« ;7 vt
CoSYx

w=
dws—‘{$3k‘/><cl)c‘ / ) 7_L(&54>< (05‘0‘
C
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24. Find the indefinite integral. K(A L{‘/Jl«,
3 1.2

[cos 4xsin” 4xdx 3 ‘49
: S(l— Sinxy sndeos e/ (578

-— -= FC
w= simdx du= ‘]‘coSLr‘)«LX _ <7 4)( = q)( e
25. Find the indefinite integral. 7 3 =

"cos3 2xdx O P
(st = E %-—)—- PERSY
W= sin2e dus2e0s2xdx . e

26. Find the indefinite integral. J o |+ co520x J)(
[ cos* 5xax )/”7 f’+240910‘x+ cos '01\ Al \Q “—""/
', 20
ﬁ-i—coﬁlo)t d ! o$'0><Cl,X i()(-f—S_l___
(X #F23m/0% |+ y ‘ \ zo

RN siw'OX \y 20%
27. Find the indefinite integral. g 2 ¥ = + S')Jo——_ T

| [sin%d: ; i —Sg(l—lff>dw
5 (- CO$(§)> Snsx ( u—%3>='5 (ce®)- ‘%375{)>+g

N

-5
= ¢
&';‘;sf(;,)s-)dok - =1 0053(){)-5405@)_,&
28. Find the 1ndeﬁmte integral. 2 s S
f sin’ 2x dx S—

: Y x -sindx
A _ dxVdy - L (x =1swmix)c = ~—5— +< | REVISED
z SO cosH)dx 2'( N > 3 2:14 pm, 9/17/06

29. Find the indefinite integral.

[sin® 26eos 26 46 £
o2 | 3
< - 6031@3 Sin28 coszs*cle "-z C/ bc>rclbg
W= cos2® -

) rd /
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30. Find the indefinite integral. U=Sn8 U, U CJ Y©
[cos30d0 duz cosSde

Jsin@ / y S
- L(, A g2
2 " _u
- E4
5 / \;'_”, (0504 e ’; % |
67)1 9 - z \ ')‘l +C
31. Find the indefinite integral. - B v \j Sne T = Sin B\ Sime
[tan 7x dx — B
o d
tonTx _ l
d w = 7 s€c 7xcl)( B /é” [cos 7* H(‘Fa«lz”?—ﬂ%os&)
32. Find the indefinite integral. ——————_

= £ U=3ec® ) dumvecr
kT Gectz- Nwad funz

=dy K 2udu + [tarede
7 1 ((5@2 zsec,yi}# ftom
33. Find the indefinite integral. [ (__ u‘) e Un | 5ec,-1-/+c)

5| X i~
[tan [-I—de = |l (‘IL%-EJE <ll([@e¢3a Zse&)seuj%
2

[sec* 2xdx T
sec’ 2x \
L M sec /”)_— //96:? )4%'5& |()|+c"
G:om" 2 + |> sec*2xdx A
u = ‘!‘ZVVL'Z—X Ju= 25¢.* Zxa_,( g(uﬂﬁk /<“;+o<>+c
34. Find the indefinite integral. ————— +
[sec 4x dx o7 ‘;"LZ)( '!_
L\—_—— [
SGCVY\ 7X+I> secYxdx = ;—// gu.zH)cl ZL/ {({,ﬁ# 2 +De1(¢
du =Hsectdxdx s L (g g. u} = L (+“M"‘" zv'mf‘fx 714,\4}
35. Find the indefinite integral. 7 -

TR 2 (T e

w:LM(T%X) J .
dw:'ﬂ/:‘]_ sec WXJ,\C ’7’7 ’ILM@—-X +C
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36. Find the indefinite integral. L ul = = 4¢ = SE€< X

: {sec’3xtan3xdx > 15 /5 L
w=sec %X |

dM« =23 ec,g)(‘l'ﬂots)( Jx

3
37. Find the arc length of the graph of the function y = 3x2 +2 over the interval [0, 12]
12~

/_ L o d=r2
Y = y;,'z 5J1+xcbc = L
A T — 1,( (l’z -
Jn+(xk)”clx '
u= %+ | Y=o
’ du,‘cl)g , ‘
2
38. Find the arc}length of the graph of the function y = 18x” +6 over the interval [0,7) P
/ -72 2 =
- 27)( ~ = [#27x - o/ = Uy
4 . 2.7a£x 27> ) YT 527
or=c ;
{ MsEohde 2 (G
2
39 Fmd the arc length of the graph g7f the function y =%x3 +10 over the 5(nterva1 [1,512]. ;‘:56,5
3
k] ¥ = E 2
Y Xsn— 7 ( X3 Xi-ri. d—‘«/f Judws [u]=55—2—2' '
pn I _
'\YH-/)(_%—aX L= )(1’% i A= X=
du=% X'%Ax u=z
40. Fmd thearclength of the graph of the funcnon y-—l-g+i§1-7 over the interval [1,2].
v T
X4 {m&_f-ux
W J__ o ) 22X
2 x"’i _ [ _L];Z}},J- (
= 5 T é/X K X)), T etz N6 z
41. Fmdtheamlengthofthegmphoftheﬁmctlon x—l(y +2)? over the interval /5*12. 7 1—‘2 ¢
2
0<y<li4. '
I

| . NE, oYY
- £ () f b= | L]
= (y¥2r=yher W
I 1;/L/
5 - g(“”‘*y"c’y ,
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42. Find the arc length of the graph of the function x = %@—3)\/; over the interval

1<y<9.

dy

(2 -

dy, | ?
7

]

L L

;
——
Lo byt
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1. Write the definite integral for the area of the surface generated by revolving the curve
about the x-axis.

.}f:—;-xﬁ 0<x<s @ 2(( \WC/)(
o 2
\/ ] f)(‘/)(g - ‘251-7)( J){

2. Write the definite integral for the area of the surface generated by revolving the curve
about the x-axis.

5
=27 (5 } o~ d x
y=5Jx, 4<x<5 =2 % '*Q@‘J
123
7= 3 3x = Jorr r——tx* %5 d x
‘ = > S 4

3. Write the definite integral for the area of the surface generated by revolving the curve

about the y-axis. T

y=3xr+11, 1<x<1331 P[/ > C)’ ”>\)’ +/3(2/’7D> J>/

(Fi) =X v

dx . ’5()”15 “““““ jlbf«;n C{GW— W
dy B roadius =X = (\/ //>3 Z U=

4. Write the definite integral for the area of the surfac
about the y-axis.

m.g d
=21 2 z |
y=100-x*, 0<x<10 ﬁ = X |+ (F2x) X

Y= - 2x

0
|0
radins < X :QWIXWCLY
0

5. Write the definite integral for the area of the surface generated by revolving the curve
about the y-axis.
ra J s =0

)”:\/9~x3, 0<x<2 Drea = 207 J/QL)(
7 2z

= Z( X &/—Z”Cl)( érJ—_QLX

generated by revolving the curve

7/
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